## Fort Bend County Tabulation Bid 21-101

## Construction of Turn Lanes on Cinco Ranch at SH99 for Fort Bend County Mobility Bond Project No. 17314x

Recommended: Main Lane Industries, Ltd. \$695,817.50 Funding: Mobility Bonds

Company	Bid Price	Completion Time in Calendar Days			
Main Lane Industries, Ltd. Houston, TX	\$695,817.50	120			
Jerdon Enterprise, L.P. Stafford, TX	\$759,999.99	120			
TLC Construction Contract Services, Inc. Houston, TX	\$879,977.00	120			
Lhoist North America of Texas, LLC Chicago, IL	Disqualified: Did not provide completed pricing sheet nor required documents.				

				[	Main Lana In	advetice 14d	landan Fut	avanias I D	TI C Compton of the C	
					iviain Lane ir	ndustries, Ltd.	Jerdon Ent	erprise, L.P.	TLC Construction C	ontract Services, Inc.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
$\overline{}$	Preparation	and Excavation Items				1	1	1	1	1
1	110	Roadway Excavation	CY	2,050	\$20.00	\$41,000.00	\$29.00	\$59,450.00	\$36.00	\$73,800.00
2	130	Borrow	CY	100	\$15.00	\$1,500.00	\$16.00	\$1,600.00	\$62.00	\$6,200.00
3	562	Preparing Right-Of-Way	LS	1	\$65,000.00	\$65,000.00	\$111,364.14	\$111,364.14	\$93,328.00	\$93,328.00
4	104	Remove Old Concrete (Pavement With Curb And Driveway)	SY	824	\$25.00	\$20,600.00	\$50.00	\$41,200.00	\$40.00	\$32,960.00
5	104	Remove Old Sidewalk	SY	274	\$25.00	\$6,850.00	\$14.00	\$3,836.00	\$30.00	\$8,220.00
6	465	Remove and Dispose 15" Reinforced Concrete Pipe	LF	24	\$20.00	\$480.00	\$17.50	\$420.00	\$75.00	\$1,800.00
7	465	Remove and Dispose 18" Reinforced Concrete Pipe	LF	60	\$20.00	\$1,200.00	\$17.50	\$1,050.00	\$68.00	\$4,080.00
8	465	Remove & Dispose Old Structures (Inlets, Headwalls, Interceptors)	EA	3	\$600.00	\$1,800.00	\$650.00	\$1,950.00	\$1,043.00	\$3,129.00
9	646	Fort Bend Project Sign	EA	2	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,079.00	\$2,158.00
SUBTO	TAL SITE PR	EPARATION AND EXCAVATION ITEMS	•			\$141,430.00		\$222,870.14		\$225,675.00
R Dave	ement Items	•								
10	220	Lime stabilized subgrade manipulation, 8" Depth	SY	2,210	\$15.00	\$33,150.00	\$8.50	\$18,785.00	\$15.00	\$33,150.00
11	221	Hydrated lime (slurry applied) for stabilization (6% by dry weight)	TON	63	\$180.00	\$11,340.00	\$210.00	\$13,230.00	\$600.00	\$37,800.00
12	360	8" Concrete Pavement	SY	2,105	\$75.00	\$157,875.00	\$90.00	\$189,450.00	\$98.00	\$206,290.00
13	530	6" Reinforced Concrete Curb	LF	945	\$10.00	\$9,450.00	\$7.00	\$6,615.00	\$7.00	\$6,615.00
14	530	ADA Ramp (Type 7)	EA	14	\$2,500.00	\$35,000.00	\$1,000.00	\$14,000.00	\$2,033.00	\$28,462.00
15	530	Sidewalks (4.5") Per Plans	EA	235	\$120.00	\$28,200.00	\$75.00	\$17,625.00	\$143.00	\$33,605.00
16	530	Brick Pavers	SY	39	\$250.00	\$9,750.00	\$120.00	\$4,680.00	\$171.00	\$6,669.00
- t	TxDOT	BLICK FAVELS	31	33	\$230.00	\$3,730.00	\$120.00	34,080.00	\$171.00	\$0,009.00
17	360-6043	13" Concrete Pavement (Fast Track)	SY	276	\$130.00	\$35,880.00	\$150.00	\$41,400.00	\$170.00	\$46,920.00
18	TxDOT 512-6009	Port CTB (Fur & Inst)(Low Prof)(TY 1)	LF	180	\$90.00	\$16,200.00	\$100.00	\$18,000.00	\$60.00	\$10,800.00
19	TxDOT 512-6010	Port CTB (Fur & Inst)(Low Prof)(TY 2)	LF	40	\$90.00	\$3,600.00	\$100.00	\$4,000.00	\$59.00	\$2,360.00
SUBTO	TAL PAVEN	ENT ITEMS				\$340,445.00		\$327,785.00	•	\$412,671.00
C. Stor	m Sewer Ite	ems								
20	429	Trench Safety System, 5' To 10' Depth	LF	75	\$1.00	\$75.00	\$15.00	\$1,125.00	\$1.00	\$75.00
21	460	15" RCP (ASTM C76, Class III) (Rubber Gasket)	LF	11	\$200.00	\$2,200.00	\$175.00	\$1,925.00	\$489.00	\$5,379.00
22	460	18" RCP (ASTM C76, Class III) (Rubber Gasket)	LF	64	\$200.00	\$12,800.00	\$135.00	\$8,640.00	\$255.00	\$16,320.00
23	472	Standard Type "C" Inlet	EA	3	\$6,000.00	\$18,000.00	\$4,000.00	\$12,000.00	\$7,882.00	\$23,646.00
24	473	Adjusting Manholes	EA	2	\$700.00	\$1,400.00	\$325.00	\$650.00	\$801.00	\$1,602.00
25	473	Adjusting Inlets (Cap)	EA	2	\$1,500.00	\$3,000.00	\$325.00	\$650.00	\$2,072.00	\$4,144.00
SUBTO	TAL STORM	SEWER ITEMS				\$37,475.00		\$24,990.00		\$51,166.00
D. Traf	fic Signal									
26	TxDOT 618-6042	Condt (pvc) (sch 80) (1 1/4")	LF	440	\$8.30	\$3,652.00	\$33.00	\$14,520.00	\$16.00	\$7,040.00
27	TxDOT 618-6046	Condt (pvc) (sch 80) (2")	LF	300	\$10.50	\$3,150.00	\$20.00	\$6,000.00	\$19.00	\$5,700.00

					Main Lane Industries, Ltd.		Jerdon Enterprise, L.P.		TLC Construction Contract Services, Inc.	
Item No.	Spec. No.	ltem Description	Unit Measure	Unit Quantity	Unit Price	Total in Figures	Unit Price	Total in Figures	Unit Price	Total in Figures
28	TxDOT 618-6047	Condt (pvc) (sch 80) (2") (bore)	LF	190	\$13.50	\$2,565.00	\$21.00	\$3,990.00	\$21.00	\$3,990.00
29	TxDOT 618-6058	Condt (pvc) (sch 80) (4")	LF	130	\$30.00	\$3,900.00	\$40.00	\$5,200.00	\$37.00	\$4,810.00
30	TxDOT 618-6059	Condt (pvc) (sch 80) (4") (bore)	LF	235	\$36.00	\$8,460.00	\$45.00	\$10,575.00	\$39.00	\$9,165.00
31	TxDOT 620-6007	ELEC CONDR (NO.8) BARE	LF	390	\$1.75	\$682.50	\$2.65	\$1,033.50	\$2.00	\$780.00
32	TxDOT 620-6008	ELEC CONDR (NO.8) INSULATED	LF	780	\$2.00	\$1,560.00	\$2.85	\$2,223.00	\$2.00	\$1,560.00
33	TxDOT 620-6009	ELEC CONDR (NO.6) BARE	LF	1,715	\$2.10	\$3,601.50	\$2.90	\$4,973.50	\$2.00	\$3,430.00
34	TxDOT 621-6005	TRAY CABLE (4 CONDR) (12 AWG)	LF	1,400	\$2.50	\$3,500.00	\$3.70	\$5,180.00	\$3.00	\$4,200.00
35	TxDOT 624-6010	GROUND BOX TY D (162922)W/APRON	EA	2	\$1,200.00	\$2,400.00	\$1,650.00	\$3,300.00	\$1,429.00	\$2,858.00
36	TxDOT 624-6028	REMOVE GROUND BOX	EA	2	\$100.00	\$200.00	\$525.00	\$1,050.00	\$571.00	\$1,142.00
37	TxDOT 682-6018	PED SIG SEC (LED)(COUNTDOWN)	EA	4	\$750.00	\$3,000.00	\$1,050.00	\$4,200.00	\$714.00	\$2,856.00
38	TxDOT 684-6007	TRF SIG CBL (TY A)(12 AWG)(2 CONDR)	LF	3,450	\$1.80	\$6,210.00	\$2.40	\$8,280.00	\$2.00	\$6,900.00
39	TxDOT 684-6009	TRF SIG CBL (TY A)(12 AWG)(4 CONDR)	LF	3,845	\$2.20	\$8,459.00	\$3.05	\$11,727.25	\$3.00	\$11,535.00
40	TxDOT 684-6012	TRF SIG CBL (TY A)(12 AWG)(7 CONDR)	LF	1,720	\$3.00	\$5,160.00	\$5.70	\$9,804.00	\$3.00	\$5,160.00
41	TxDOT 684-6080	TRF SIG CBL (TY C)(14 AWG)(2 CONDR)	LF	4,450	\$1.70	\$7,565.00	\$3.30	\$14,685.00	\$2.00	\$8,900.00
42	TxDOT 687-6001	PED POLE ASSEMBLY	EA	2	\$1,900.00	\$3,800.00	\$3,450.00	\$6,900.00	\$2,286.00	\$4,572.00
43	TxDOT 687-6005	REMOVE PED POLE ASSEMBLY	EA	2	\$100.00	\$200.00	\$950.00	\$1,900.00	\$429.00	\$858.00
44	TxDOT 688-6001	PED DETECT PUSH BUTTON (APS)	EA	4	\$1,500.00	\$6,000.00	\$1,100.00	\$4,400.00	\$1,000.00	\$4,000.00
45	TxDOT 688-6004	VEH LP DETECT (SAWCUT)	LF	1,435	\$10.00	\$14,350.00	\$15.00	\$21,525.00	\$14.00	\$20,090.00
46	TxDOT 690-6030	REMOVAL OF PEDESTRIAN PUSH BUTTONS	EA	4	\$50.00	\$200.00	\$130.00	\$520.00	\$143.00	\$572.00
47	TxDOT 690-6033	REMOVAL OF TRAFFIC SIGNAL POLE FND	LF	4	\$400.00	\$1,600.00	\$1,500.00	\$6,000.00	\$571.00	\$2,284.00
48	TxDOT 690-6094	REMOV PED SIG LED TRAF SIG LAMP UNIT	EA	4	\$50.00	\$200.00	\$260.00	\$1,040.00	\$143.00	\$572.00
SUBTOTAL TRAFFIC SIGNAL ITEMS \$90,415.00 \$149,026.25 \$112,97									\$112,974.00	
E. Sigr	ning and Strip	oing I	Τ	1					Τ	
49	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	4	\$475.00	\$1,900.00	\$650.00	\$2,600.00	\$727.00	\$2,908.00
50	624	Aluminum Signs (Ground Mounted)- Relocate	EA	3	\$475.00	\$1,425.00	\$350.00	\$1,050.00	\$464.00	\$1,392.00

					Main Lane Industries, Ltd.		Jerdon Enterprise, L.P.		TLC Construction Contract Services, Inc.	
Item	Spec.	ltem	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
51	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Solid - Furnish & Applied	LF	300	\$1.10	\$330.00	\$1.00	\$300.00	\$1.00	\$300.00
52	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	970	\$1.90	\$1,843.00	\$1.30	\$1,261.00	\$2.00	\$1,940.00
53	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	500	\$4.00	\$2,000.00	\$2.80	\$1,400.00	\$3.00	\$1,500.00
54	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	140	\$8.25	\$1,155.00	\$6.00	\$840.00	\$7.00	\$980.00
55	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$200.00	\$800.00	\$130.00	\$520.00	\$157.00	\$628.00
56	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$250.00	\$1,000.00	\$140.00	\$560.00	\$171.00	\$684.00
57	674	ELIM EXT PAV MRK & MRKS (4")	LF	300	\$0.50	\$150.00	\$0.45	\$135.00	\$1.00	\$300.00
58	674	ELIM EXT PAV MRK & MRKS (8")	LF	120	\$0.80	\$96.00	\$0.95	\$114.00	\$1.00	\$120.00
59	674	ELIM EXT PAV MRK & MRKS (12") & (24")	LF	580	\$2.30	\$1,334.00	\$1.50	\$870.00	\$2.00	\$1,160.00
60	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA	117	\$5.50	\$643.50	\$4.80	\$561.60	\$6.00	\$702.00
61	660	Reflectorized Pavement Markings Type II, 12" Yellow/Solid/for 6" curb	LF	940	\$1.50	\$1,410.00	\$1.25	\$1,175.00	\$2.00	\$1,880.00
SUBTO	TAL SIGNIN	IG AND STRIPING ITEMS				\$14,086.50		\$11,386.60		\$14,494.00
F. Traf	fic Control	T	1			T		1	1	
62	665	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished - Applied, Removed	LF	776	\$1.00	\$776.00	\$1.10	\$853.60	\$1.00	\$776.00
63	665	Work Zone Pavement Markings 4" White/Dashed (Removable) Furnished - Applied, Removed	LF	450	\$1.80	\$810.00	\$1.80	\$810.00	\$2.00	\$900.00
64	665	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished - Applied, Removed	LF	404	\$1.00	\$404.00	\$1.10	\$444.40	\$1.00	\$404.00
65	665	Work Zone Pavement Markings 4" White/Dotted (Removable) Furnished - Applied, Removed	LF	80	\$2.20	\$176.00	\$4.80	\$384.00	\$6.00	\$480.00
66	671	Traffic Control Plan	MO	4	\$10,000.00	\$40,000.00	\$3,000.00	\$12,000.00	\$7,007.00	\$28,028.00
SUBTO	TAL TRAFF	IC CONTROL ITEMS				\$42,166.00		\$14,492.00		\$30,588.00
G. Sto	m Water P	ollution Prevention								
67	162	Sodding Strip for Erosion Control (Various Widths)	SY	170	\$10.00	\$1,700.00	\$7.00	\$1,190.00	\$9.00	\$1,530.00
68	165	Hydro-Mulch Seeding Of All Disturbed Areas	AC	1	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$6,063.00	\$6,063.00
69	719	Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	3	\$300.00	\$900.00	\$60.00	\$180.00	\$136.00	\$408.00
70	719	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags;60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	3	\$400.00	\$1,200.00	\$60.00	\$180.00	\$136.00	\$408.00
71	751	SWPPP Inspection and Maintenance (Min. Bid - \$6,000.)	МО	4	\$6,000.00	\$24,000.00	\$1,500.00	\$6,000.00	\$6,000.00	\$24,000.00
		WATER POLLUTION PREVENTION ITEMS		L		\$29,800.00		\$9,450.00		\$32,409.00

						Main Lane In	dustries, Ltd.	Jerdon Enterprise, L.P.		TLC Construction Contract Services, Inc.	
T	tem	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
	No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures

	Main Lane Industries, Ltd.	Jerdon Enterprise, L.P.	TLC Construction Contract Services, Inc.
A. Site Preparation and Excavation Items	\$141,430.00	\$222,870.14	\$225,675.00
B. Pavement Items	\$340,445.00	\$327,785.00	\$412,671.00
C. Storm Sewer Items	\$37,475.00	\$24,990.00	\$51,166.00
D. Traffic Signal	\$90,415.00	\$149,026.25	\$112,974.00
E. Signing and Striping	\$14,086.50	\$11,386.60	\$14,494.00
F. Traffic Control	\$42,166.00	\$14,492.00	\$30,588.00
G. Storm Water Pollution Prevention	\$29,800.00	\$9,450.00	\$32,409.00
TOTAL BID PRICE (SUM OF ITEMS A THROUGH G)	\$695,817.50	\$759,999.99	\$879,977.00